& )3 61
oh gLy b .
B OB kOB T (e T R
pm————r { i
B B Wo® I B 7 BWoO® I
mw W . - . - i
ARKBRR 5 | ARK|BRK| & ARRERR 8 | ARk | mRR| &
i =R 14 —_ 14 10 — 10 #f 5 1 1 2 7 — 7
i S 15 — 15 20 — 200 + i — 2 2 12 — 12
7 5| - - - - - -
b e - - = = - -
% > 3 —_ 3 5} — 5| B E: i 9 1 10 37 —_ 37
ax 3] 1 3 4 6 - 6
x LifZ 2 3 5 15 — 15
F w ) R— p) 8 — 8l H % 5 3 8 14 — 14
gz A 3 - 3 7 — 7
7] §§ 13 1 %,4 22 1 23
A2 9 1 0 18 — 18 o =
- o B I T N 1 1 & B 100, 28 128 255 3 258
i % 5 4 9 28 — oy K EZE " §«1; 108 %34 8 2
Al - S| 72 32 104 229 4 233
Al £ 4 6 10 15 1 1 - Oy 66| 25 91 203 4 207
4 3 7 20 — 20 :
it % B 5 P9+ pu s 54 39 93 196 8 204
}
= Lo —_
xR B / € CRIEPISER I RHUED
f # F o | pr=m| & »(EULED)
MU LB THAL ; = ’ . -
+axw | L AAEET A L wan | w BB M WM m
V3l gl ] ]
132 B 340 20 4 2 366 1,870 880, 1,855 249,750 4,745
B st 5,708 776 8 12 6,504 27,735 13,315 20,069 2,489,866 48,435
3 B 4,227 790 15 4 5,036 24,789 14,641 17,226 1,840,014 31,633
b DE = 1,701 663 12 4 2,380 12,328 10,614 8,948 839,333 13,753
= % 1,730 260 4 1 1,995 7,384 4,326 5,924 591,365 13,010
A b3 1,139 70 6 2 1,217 4,944 3,349 3,792 362,176 8,867
9% A\ 3,633 410 15 4 4,061 15,793 8,383 11,853 1,005,910 22,130
8 g 3,250 99 — —| - 3349 8,344 3,651 5987| 594,510 14,054
AR B 4,116 292 5 1 4,414 13,098 6,287 8,765 682,170 14,395"
il il 1,776 62 —_ — 1,838 4,344 2,544 3?067 177,505 3,878
e it 4,206 243 11 1 4551 12525 9,286 8,812 734,583 14,649
i E 1,625 29 -  —| 1,654 4526 3,289 4,475 198,050 4,987
hili| 7% 5,174 Y72 8 — 5,954 19,083 19,583 15,739 1,375,833 24,756
D] ) 4,262 845 15 11 5123 20615 23,33 20,590 1,525,119 20,956
4 7 5,854 544 8 —| 4406 13312 16579 11880 784,478 14,760
2N Filie 5,330 410 9 2 5,801 19,582 13,937 15,041 1,225,797 26,720
o W 774 46 3 - 8323 2,698 2,107 2,461 200,620 4,543
* B 419 61 9 6 495 2,627 2,329 3,001 266,324 8,619
5 £ 693 H2 — 1 746 . 8,256 2,083 3,265 281,668 7,137
& B 54097 6444 132 40 60713 218818 160515 172750 15.425071] 302527
K IE = & 53,716 5,062 96 29 58908 212,280; 189,365 167,988] 14,987,935 320,344
G - & 56,129 5,109 104 18] 61,360] 224,163 143,863  168,801| 14,257,268 301,686
3] 56 48 59,827 6,037 106 24 65,494 240,095/ 168,018 185,079] 14,267,945 292,837
BHIRMpg s 60,940 7,304 325 30 68,599 243,835 183,475 185,446 14,475,774 267,116




£ e '
x B /7 I @ ® CREREA IR
o oz W ® B W N prom | s (SHEED
ki | EPAE | ERALL lamne | w T ommm omm owm
| ERE | B R * ' hatt}
g A | ]
g8 .S 15 5 — — 20 219 221 128 15,035 314
L] B 2 1 — — 3 115 10 55 17,712 354
sg # - 5 3 — 8 gg 340 97 5,4gg 164
st 2 - — - 2 _ - 7 3 7
7 A 7 13 - — 20 201 130 85 10,901 218
54 2k 2 — —_ — 2 12 — 5 180 4
I [ 21 6 — — 27 146 63 81 8,100 242
R e 8 - - - 9 58 — 34 5,430 149
iR * — — - - — - ~ — — —
n % 48 3 — — 51 235 139 144 6,225 150
. 30 - — — 30 08 240 82 3,050 59
:E i% 80 _ —_ - 80 112 244 94 240 6
2 B 57 3 — — 60 233 146 1§§ 1§§$§ 332
3 3 2 - — 5 — 3 , 42
%? e 9 1 _ - 3 33 20 31 652 28
2 & 277 40 3 - 320 1,672 1,553 1,039 89,314 2.076
K E = & 299 3 — 1 338 1,588 1,586 1,214 75,123 1,957
[ - 316 40 - - 356 1,332 1,693 1,067 77,452 1,8%
B 5t 4 414 49 — - 463 2,103 2,071 1,643 81,303 1,899
B Pyl 573 77 3 1 654 2,428 2,524 1,984 99,293 2,030
. |
P Ay gy 2 - . e
2 s & W CRIERIE S R
I A 2 &l w | pe=m | mm (BEES)
i S : R i 7 . e
= “‘%Us_t S—E%U‘J: = { J .
NRAES EMREE | BARE HALL ‘ 7 1 #HE @ & = il
’ 7 Py m m
i B - — — 1 1 120 - 60 9,000 180
- - — — — °3 — 2 2 5
3% %§ 3 — — - 3 19 15, 12 1,722 3
% ¥ 1 2 — —| 3 14 130 49 220 5
73 " 3 — — —1 3 9 - 3 700, 14
i ;
> A 9 — - —_ 2 11 —i 5 386! 12
%E i 4 — - - 4 7 156, 26 ) -
i % 4 - —_ — 4 13 8, 7 — —
* % 3 - — — 3 15 — 8 700] 19
i i ! - - - ] 3 - 2 | B
| i
. | .
3 12 3 _ - 15 3 33 25 1,840 35
fﬁ ﬁg 15 = — — 15 32 20 16 800! 14
& a8 15 — —_ — 15 44 69. 32 650! 13
* i 1 ~ - — 1 2 2 2 150 4
i { 4
& 64 5 - 1 70 331 433 29 16 4131 331
' ! |
A E = & 73 6 - — 79 312 1991 216 15,720 411
5] =4 79 5 — - 84 233 154 245 16,0883 409
Rl 56 & 86 4 — - 90 378 160 265 43,222 881
B A Y- Pagﬁa 86 14 - — 103 102 333 379 19,855| 403

BE7ISRABEFEF > »WrEEAv22 T N




£ ® 63
il A
8 0 3 CREM# X BRI
S
. s R I B 5 sl g | OLTE|E P (BRELA)
; : — b
+asw L AALETAOE wan | s PEBIM m®
7 & 3 - - - - g z rg 40 1
b b 1 - - — 1 2 4 3 — -
% % 1 - — — 1 2 - 9 20 1
S e 1 - — — 1 b — 6 250 13
% by 1 — — - 1 2 - 2 — —
mo E) 4 3 3 31 I 8 w3
= 5 2 — — — 2 4 - 11 60 3
& 7B 1 — -— - 1 2 _ 3 30 1
| & e 3 — — - 3 12 — 49 410 20
& ® n - - - 1 37 4 87 1010 43
x E = & 12 1 — - 13 70 24 84 1,568 106
- Rl gyt 23 4 — — 27 115 82 178 2,685 141
& A 18 4 - — 22 140 91 192 7,350 406
T 16 9 — — 18 96 78 187 4,138 238
- 3
x FH W 5 CREMED
WO || BB o W WOROW M| R OROE A 3 & B B
1 S ' :
W EVE| w |ovalen] wi | w0 jovmher| oo | e b s | o | phaela]
C 4 D '
m ml @ _m E
R 3 i N e [N ot B N ot e e Jocs [t [t s
) 1 M | —| 157 737] 894 —| 8S 435 523 a804 97 544 32738 —| 63l 200 362
® E '_{% —| 124] 835 959 —| 92| 487] 579 —| 3,872/19,78823,660, —| 33| 337 370
wmo k|- R D Az ) 4D D oIIioooc
_ 2 9 —| 2 of — 161 —| 161 —| — —
2l U {i% — 8 = 8 = 8 | 3 ~ 108 —| 106 — — — —
: 1 s2] 8| s8] 1] 220 8 26130 1,008 195 1418 —~| 10 10
b w1 "‘{éﬁ w3 S| o4 1) 200 | ails00 ser|  — eer] —| 8 —| 3
¥ | ~] 8 — 8 —| 2 — — — 58 - 58 —| — —
X - ! {'& —| 18 _t 18 —! — = - - = - - =
. e | —| 19 19 —| 9 - — 379 — 8719 —| ~— -
E N 2 {%k —| 23 - 2 —| 9 — —| —| 200 -—| 200] — N —
& & 3 5 {¢ 11223 7400 964 1| 125 438 564 130 6,740 28.039 34.909 —| 73 299 372
= i 1191, 835 1.027) 1) 124 487) 612 200 4,645 1978824633 — 36| 357, 373

RESEUR I FT - BERRNF R r 2 07 vBRE)Y



B
e

= H,
* % W B ;
N HOE [ M B o W WO OB M | W W MW 3 # B M
wR B v rm | s vl i | e v e | e | B staleam| ar
C B D
. 5 A | o m
- B 2{% —| 48 46| —| —| e5| 25 - —| 921 92 - - -
| i —| 157 157| —| —| 89 8] —| —| 3,559 3559 - -
P of — 6 S [ A N O 0 [
2 - 1 {qg: 45|  —| 45 —| 190 —| .19 —| 6200 —| 620 1 —| 1
% 1 _{‘ﬁ" = = emd Tl T T s amelva a4 = = =
i 249 647] 889 —|215| 57| 791 —| 7,952 19,492| 27,444 o711 71| 98
# st 1l 4 | 3 1l 4 — 107 40| 147 — - -
% A= 2(% so| 15| 245 —| s7| 104] 161 —| 3,133 5,354 8487 - = =
W - o o~ | 2 o - — sl - - =
£ | - l{z& —| 168 168] —| —| 55 55 — —| 2501 2,501 - o =
P 51 o 7 —| 8 o 7 — —| -8 86 | - -
& ® | - 1{45: g 86| 90| —| 4 80| 84 —| 426 3793 4,219 —| 6
. S | N | s Rt | B —| s 35 — -
L B — 1{% —| 125 125 —| —| 69 69 —| 2,863 2,563
- , — 1 2 8 — 1 1 ol —| 2711 368 63 — -
& W | - 13| ) w a s D o s oag | o5 11ss nary - —| - =
3 48] s3] s2 | 33 s 84 —| 1,036 1,295 2,331 8 17, 2
w e Al 9 s A3 s D s 7 w4 —| o) zoas| 281 of 38 47
. Jgwe |1 o2r —| 28 —| 18 —| 18 —| 550 550 1 - 2
|- v {#i 3 5| 41 —| 32 5 87| —| 695 232 927 - - -
— 14 14 —| — 9 9 — — 643 643 —| B 5
wf B 1 —{ig —| agol 9292| | —| 1668 166 — — 115,767, 15,767 —| 126] 126
_ ¥, 493 743 1166 | 279| 47| 756 —|11,144|21,487/32,631 | 106| 234] 340
e w1 7{4:{: 193] 217| 410| —| 155| 131 286] —| 4,537] 7,03411,571 21) 80 101
b 230 7 80| —| 19| 2 21| —| 600 59 €59 B R
& Mmoo 1{%; 32l 1) 83 —| 28 1] 20 —| ers 23 oL 4 4 s
Hy 135 —| 185 —| 83 — 83 —| 2,506 —| 2,506 4] — 4
x ¥ - 1{% 164 —| 164] —| 143 --| 143 —| 3,694 —| 3.694 3 —| 3
o+ o {4t 43 2l 45 —| 2L 1 220 —| 799] 421 841 5 9o 7
= = 2uE | —| 3 S| 81 —| 18 —| 18| —| 410 —| 410 [
= 4t 7120 853 1,569 —| 462 572 1.034 —|16769,24,701141.470 1) 124| 258 383
st 3 38
B i 897| 1425 2823 —| 711 1,386 2.097| —|23,341/63.815/87:156) —| 65/ 325 390
KEZEURF 25~ BEERF R v 2 UP R ViR
B go® oW oW | W OR OB K w R #m
A e [EBR & L . 4 B
: B8 BE i | 4 ‘ 8 1 H 8 | 4 4k m‘ N . _J &k -
= 4 4 0] 1189 1,163 2,142 3,051 770 736) 1,660 2,256 54,022 34,856 68,245 100,863
= 4 68 2,037 1963 2185 3,936 1,685 1,558 1,756 3,155 120,828 87,017 72,903 132,622
5 4n sl 76| 656 627| 1235 2.367] 482 5361 868 1737 33,543 24,810 30,179 71,252
s 1 39 280 230 5200 L1s0 151 216 303 792 11315 8,396 10,700 32,379
i

m——




% & 65
= e ChERSE+ R RS
/f m * Sk =
o # 2 2y %5 i
m W | WEAE !
woOW|® m® m| % | ® BIM OE| %™ R M &
W i
5 19 B 4]
54 B 3 — 25 157 182 1,026 1,231 6 29
3 e 59 —_ 6 97 103 32 45 3 5
1] B 56 —_ 11 83 94 409 574 — —
e b 16 1 6 19 26 — — - -
%7 % 12 2 29 5 36 97 145 — —
S e 33 3 —_ 55 58 215 244 8 40
g A 41 — 40 29 69 312 349 3 1
e Ex 38 1 34 40 75 324 454 3 6
AR B 57 — — 137 137 &45 1,095 —_ —
A i 18 1 71 6 78 84 83 4 24
#* % 81 8 38 86 132 272 415 — -
21 * 20 - 24 5 29 73 137 — —
i )% 78 49 28 51 121 106 319 9 14
w] =) 23 2 18 29 49 109 205 6 23
I % 9 - 7 6 13 5 10 — —
p t'.i(/,9
i A8 094 29 71 49 294 114 250 9 16
£ M 80 56 78 40 174 198 396 17 13
x gy 2 — 24 —_ 24 133 199 — —_—
EN p 15 4 16 29 49 43 82 — —
& & 766 149 526 923 1,598 4397 6.033 63 171
K E =2 & 1,212 191 892 1,682 2,765 3,939 7,055 206 412
A = & 1,911 305 2,843 4,414 7,662 2,187 4,747 126 436
| 6 & 5,581 790 4,766 13,554 19,110 2,626 5,168 132 893




